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1. Answer any five of the following : 1x5=5
(a) Define Systematics?
(b) What is Autecology?
(c) What is ecotone?
(d) Name the largest Herbarium of the World
(e) What do you mean by Operational Taxonomic Unit (OTU)?
() What do you mean by endemism?
(g) What is Denitrification?
(h) Write scientific names of two plants belonging to Malvaceae family.
2. Answer any four of the following : 3x4=12

(a) What are the pioneer species in plant succession? Give an example.
2+1=3

(b) State any three physiological adaptive features of xerophytes.
(c¢) What do you mean by valid publication? How does it differ from effective

publication? 1V5+1%=3
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(d) Compare between Artificial and Phylogenetic system of classification giving
one example of each.

(e) Write a brief note on “Pyramid of Biomass”.
() Write the purpose and importance of Taxonomic key.
3. Answer any one of the following : 8x1=8

(a) What do you mean by biogeochemical cycles? Give an account of
Nitrogen cycle with schematic diagram. 2+6=8

(b) Write the diagnostic features of the family Solanaceae. Why Orchidaceae
is considered to be the most advanced family among Monocotyledons?
5+3=8
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